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IIE 42 HEER | SNER 8 F x F B B
146 & [ ™ |1321.0 &| 9310 = 390 5| 6085 = (1 41)| 4350 ;= (1 4i) | 277.5 = ( 2 £1)
241 ¥ E 981.0 m| 661.0 s | 320 mi| 451.0 = ( 2 fi)| 335.0 & ( 3 fi) | 195.0 & ( 5 fif)
3ful db oM T 9755 #| 6455 & | 330 | 4100 & ( 3 fif)| 2355 & (5 fi1) | 330.0 & ( 1 £1)
47l R OB T 802.5 | 4625 = 340 = 320.0 = ( 4 fI)| 340.0 = ( 2 fx) | 1425 = ( 7 i)
5 A B XK 7485 /| 4585 B | 290 m| 2750 A ( 6 £1)| 2285 = (6 fif) | 245.0 & ( 3 fi1)
6fz)] & B 593.0 m| 3130 /| 280 mi| 147.5 s ( 18 fiI)| 300.5 & ( 4 fi) | 145.0 & ( 6 i)
T KB WM 590.0 | 3300 &5 | 260 | 1725 & ( 13 4i)| 180.0 & ( 9 fi1) | 2375 & ( 4 i)
84 K EHTM 5475 m| 2375 = 310 | 2800 = ( 5f)| 1875 = ( 8{i) | 800 = ( 15 4i)
9fr R B ™ 4805 M| 2305 A | 250 | 2425 =5 (7 60)| 1580 A ( 13 41) | 800 & (15 fir)
0 &= B 4525 =| 2225 = | 230 =] 187.5 = ( 10 fi)| 1425 = ( 15 fi1) | 1225 = ( 9 fi1)
na H L HH 4455 =] 2055 = | 240 5| 2000 = ( 8 )| 168.0 & ( 104&) | 775 & (18 4i1)
124 7 % T 4360 =| 166.0 = 270 | 1875 /= ( 10 fi)| 1635 /= ( 11 4i) | 850 = (13 fir)
B4 W O#E A 4275 m| 2475 = 180 = 1925 = ( 9f)| 1925 = ( 74D | 425 = (24 fi1)
vl 7 B ™ 4000 =| 1700 = 230 =| 135.0 = ( 19 fir)| 1575 = ( 14 fix) | 1075 = (10 fir)
15 K EMFH 353.5 m| 1835 m | 170 m| 106.0 m ( 22 fi7)| 105.0 & ( 17 i) | 1425 5= ( 7 1)
64 B8 B ™ 3475 H| 1375 = 210 =| 1225 = ( 21 fi2)[ 160.0 = ( 12 fz) | 650 = (19 fir)
1746 & & ™ 3325 | 1025 = 230 | 1250 &= ( 20 fi)| 1075 = ( 16 fir) | 1000 = (11 i)
184z £ £ A 3300 A| 1100 & | 220 &| 1625 A ( 14 f0)| 675 & ( 23 61) | 1000 & (11 i)
19 )N & T 310.0 &| 1500 &= | 160 &H| 1775 & ( 12 4i)| 1025 & ( 18 £i1) | 300 & (27 4i1)
204z E Il EB 2850 M| 1250 & | 160 | 155.0 A ( 17 fi£)| 1000 & ( 19 ) | 300 & (27 i)
2042 H0 Il T 2500 | 800 s | 170 £ 160.0 & ( 15 4)| 10.0 &5 ( 37 £i1) | 800 & (15 4i)
2241 /N B O™ 2425 =| 1125 & 130 m| 625 = ( 31 {)| 975 m ( 20 ir) | 825 =M (14 i)
241 3 % ™ 2260 &S| 96.0 5| 130 | 1585 A ( 16 fi1)| 425 5 ( 28 £i1) | 250 & (29 fi1)
2445 8 & W 2125 B| 425 & | 170 &| 850 A ( 28 fif)| 750 & ( 21 6) | 525 & (21 i)
25 x| PR W N Th 2075 A| 175 4| 190 &| 825 & ( 29 fif)| 750 & ( 21 6) | 500 & (23 i)
26| & [ ™ 1825 | 725 A| 110 A| 975 & ( 24 4%)| 300 A ( 324%) | 55.0 & (20 fii)
27461 B & A 1575 &| 475 8| 110 &| 975 & ( 24 fi1)| 60.0 & ( 24 i) 00 & (3811
28 5 F & ™ 1500 &| 400 A | 110 A| 1000 & ( 23 4%)| 30.0 A ( 32 4%) | 20.0 /A (30 fii)
296 H FEM 1375 =| 475 & 90 m| 950 = ( 26 fir)| 100 s ( 37 1) | 325 m (26 i)
ofzl B NI T 1325 &| 325 A | 100 A| 525 & ( 34 4i%)| 600 &5 ( 24 f) | 200 /A (30 fi)
06 KM TH 1325 =| 525 & 80 M| 900 s ( 27 f)| 325 /& ( 31 4L) | 100 & (34 £p)
6 B /1w 1325 &| 125 A | 120 A| 400 & ( 37 4i%)| 400 /A ( 29 f) | 525 &5 (21 fi)
6 T OH W 1325 | 225 A | 110 &A| 625 & ( 31 4%)| 300 & ( 32 1%) | 400 &5 (25 i)
MG E OK W 1035 &| 135 & 90 m| 735 8 ( 30 fi)| 10.0 = ( 37 4%) | 200 & (30 fir)
B B OF A 1000 &| 00 A | 100 A| 400 & ( 37 4%)| 500 & ( 27 f) | 10.0 &5 (34 fi)
M| EH A ™ 975 H| 2715 = 70 =| 525 = ( 34 4)| 350 = ( 304L) [ 100 = (34 £1)
A = H 975 &| 275 = 70 | 400 = ( 37 £i1)| 57.5 &= ( 26 fiL) 00 & (386D
/LI = KA 775 m| 275 = 50 m| 475 = ( 36 4%)| 200 = ( 354L) [ 100 = (34 fiD)
KT T CvA NV AN - G 700 = 00 = 70 =| 300 s ( 40 )| 200 = ( 354L) | 200 = (30 fL)
406 2 B OB 650 =| 250 &= 40 | 550 & ( 33 )| 100 & ( 37 £D) 00 & (386D




